* K %

bo gt
X3 APEX DYNAMICS, INC.

20201060102

2 £ ®

1D
i

e 58 55 Z 2 IBUR AR AS - Wi TRIE IR <2 &2
KEAERLS -

\ P {$}‘

a. NFHREFELRE2HE -
b. IBNE - BLETERE -

= |

=

ERER B

RIBRIOOEE -

BIUIRMEAEE  MBMANR (R—) B
S NIB2 5% K 1~4 DB » IR T 48 M &
B2 IR 4 S g I -

AR ERFRBEILRER > SRER_EZHZEND

& UBADRFRIEZEER -

1% RERBRMBIIER - LIRMIBNK (K—)
BEBNE  K1~4IBF » BEIDRFR IR




= P

INFBER ST (50 8.8 MEkh s SAEY T R 10.9 ik SR PR 12.9 ik SRS
BERRR T
[mm] [Nm] [In-Ibs] [Nm] [In-Ibs] [Nm] [In-Ibs]
M3 x 0.5P 2.5 1.3 12 1.8 16 2.1 19
M4 x 0.7P 3 3 27 4.1 37 4.9 44
M5 x 0.8P 4 6.1 55 8.2 73 9.8 87
M6 x 1P 5 11 98 14 124 17 151
M8 x 1.25P 6 25 222 34 302 41 364
M10 x 1.5P 8 49 434 67 594 80 709
M12 x 1.75P 10 85 753 116 1028 139 1232
M14 x 2P 12 137 1214 186 1648 223 1976
M16 x 2P 14 210 1860 286 2534 343 3038
= I Lt
T R PEFR R NEHER T P
[mm] [mm] [mm] [Nm] [In-1bs]
RTOGSFLTATOSSIL & | 1y | wox1p ol R I
ATO7SELTATOSIL T | e wat A R
ggggih//:?oggooﬁl_cl i <16 M8 x 1.25P x 10L 4 9.5 85
AT110FL/ AT110FL1| % 6F <24 M10 x 1.5P x 12L 5 23 205
AT110FH / AT110FC| — & <12 M6 x 1P x 8L 3 5.6 50
AT140FL / AT140FL1| % 6F <24 M10 x 1.5P x 12L 5 23 205
ATI40FH / AT140FC| — <12 M6 x 1P x 8L 3 5.6 50
AT170FL / AT170FL1| = B <24 M10 x 1.5P x 12L 5 23 205
AT170FH / AT170FC| = 4 <16 M8 x 1.25P x 10L 4 9.5 85
AT210FL / AT210FL1| % i <32 M12 x 1.75P x 16L 6 45 400
AT210FH / AT210FC| — g <16 M8 x 1.25P x 10L 4 9.5 85
AT240FL / AT240FL1| % (0 <38 M16 x 2P x 20L 8 78 693
AT240FH / AT240FC| = g <24 M10 x 1.5P x 12L 5 23 205
AT280FL / AT280FL1| % i <38 M16 x 2P x 20L 8 78 693
AT280FH / AT280FC| — 4 <24 M10 x 1.5P x 12L 5 23 205
FSE: SRR LR - RN T S LA 20% » IREGFTH -
A : 886-4-24650219 / 4 : 886-4-24650118
P ArEX DYNAMICS, INC. E 724 : sales@apexdyna.com / @it : www.apexdyna.com

Mkl 40763 & PE i EFHE = H 1057

APEX-2021-11-1E



